Jr. Newton Talent Search Examination - 2011-12

Practice Paper - 2
STANDARD -V

Total Marks : 200

Time : 2 hrs.

Section I : Language (20 Questions, 40 Marks)

Passage :

Even as long as five or six thousand years
ago. the Egyptians had discovered a way of
making paper from the stalks of a tall reed.
This reed grew in the marshes on the banks
ofthe river Nile. It was called “papyrus’ and
it is from there that the English word “paper’
has come.

The writing material also came to be called
papyrus. To make it, the stalks were split into
long strips with the help of a sharp needle.
These strips were laid side be side on a stone
slab and a gummy solution was spread over
them. Another layer of strips was then laid
across the first set. The two layers were
pressed together and dried to form sheets,
which were rubbed with stone, shell or bone,
till they became smooth.

Paper used to be exported from ancient Egypt
to the Mediterranean countries and also to
more distant lands. But supplies were limited
and at times exports were banned. The cheap
substitute that was developed in Europe and
the Arab world was parchment. This was
animal skin specially treated to make it
suitable for writing on.

Parchment is very long lasting. Ancient scrolls
made of this material have survived a
thousand years or more. The books of ancient
Greece and Rome were mostly scrolls of
papyrus or parchment. Many copies of books
were made at the same time by dictating from
the original book to a team of educated
slaves. Wax tablets were also used, on which
letters were inscribed with a pointed
instrument called a stylus.

Questions :

Q.1

Q.3

Q.5

Q.6

Paper was first made by the D23 @

Egyptians from the --—--—--- of reed.

1) branch 2) stalk

3)root 4) leaves

Which instrument was used to cut the
reeds? DOOB®
1) sharp knife 2) sharp needle

3) stone cutters 4) shells or bones

What was the problems faced by the

Egyptians in exporting paper?
0OO]6)

1) it was difficult to make papers.

2) there were not many buyers

3) supplies were limited

4) not many people wanted to buy paper.

Which of the following statement is not

true regarding ‘parchments’?
0OO]6)

1) It was developed in Europe

2) It was rubbed to with stone to make it

smooth

3) It was made with animal skin

4) It was very long lasting.

Which is an another alternative to paper
used in ancient times mentioned in the

passage? DO
1) stone slabs 2) stylus

3) scroll 4) wax tablets
Select the antonym of ‘regular’ formed
by using a prefix. 00O
1) Daily 2) rare

3) disregular 4) irregular.

If deer: doe: fawn: herd, then, D3 @
goose: : gosling: flock.

1) Geese 2) gander

3) hen 4) fowl.




Q.10

Q.11

Q.12

Q.13

Q.14

Which of the given words does not rhyme

with ‘nod’? 00O
1) Broad 2) pod

3) abound 4) rod.

Complete the simile — as deaf as a .
1) dove Qrat DOB®@
3) post 4) toast.

A compound word is a word made by
combining two words which of these is not

a compound word? 006
1) Storybook 2) water bag
3) showcase 4) cupboard.

Complete the sentence using the past
continuous tense form of the verb given

in brackets. DOOB®

It (to rain) when we left the
school.

1) Was raining 2) rained

3) israining 4) had been raining.

Use an appropriate interjection to

complete the sentence !Thave

forgotten my homework again.
0[OIO[0)

1) Ouch 2) Oh God

3) Alas 4) Sad

Which punctuation make will complete
the sentence — 0016
My friend Ali wants to be a doctor.

1) Comma after friend

2) apostrophe for wants

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Pick out the subject in the given sentence.
The Mother of the three kids was really
very tired. 00O
1) Was really very tired

2) The mother of

3) The three kids

4) the mother of'three kids.

What will you call the doctor who operates

on the patients? DO20®
1) Physician 2) Surgeon
3) Anesthetist 4) Orthopedic.

‘to pick on somebody’ means —

1) To irritate someone DOOB®
2) to take someone’s things

3) To make fun of someone.

4) To visit someone.

Itis advised that you mend things in the
initial stages itself. This can be explained
by the proverb — 0016
1) A stitch in time saves nine.

2) Apt actions save money.

3) Abird in hand is worth two in bush.

4) Cross the bridge when you come to it.

Arrange the words alphabetically. Which

will be the second word? 00O
1) Feast 2) friend
3) fail 4) fury.

Using the letters the boxes once, how
many words 4 letter can you form? The
central Letter has to be there in each

3) inverted commas for doctor. word — 00O
4) A colon after be. B L A
These are lovely flowers. Identify the i E i/l
kind of pronoun. DO 07 M8
1) Demonstrative 2) interrogative ) )
3) 1 4) possessive. 3)9 4) more than 10.

persona p

19T 1 - $1T9T (20 99, 40 3[0T)
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el Sk I THERR hohl. AeaE e Wil




Q.3

AT et Egant &? Q@
1) frgoen 2) <&
3) RIS 4) TS

Ny A VTR ShIUTT THHIEA Y8 o
I AT 3R ? DOB@
1) 99 2) dfehd
3) eF@ 4) 9B

e S0 AT AT RIUTET TERER A
TR 3R ? 0INO]0)
1) TR S0l 2) YRR Bk 3901
3) SRl 4) T FO

Gt wifadar St a uyEia 9 "t
.

AT 3T hl oI,
RENEIRISERS ||
SHTH & &H S19et
Hoa1 HicAr=N A fieheit
IS Arr=h Ao <R
Fall-3TH HIHTER

FHISAT RIVMER FOS! 3MR?

1) T= 2) SN
3) T 4) FR

TGS 3T TEUTS hivT? D2BE
1) = 2) 3
3) FAB TR 4) <&

A=l S5 TeUrS i ?
1) 91 2) gusit
3) Y& 4) 9=

Th! TFTA G619 S0T 3Tl ThHeRiFT HedT.

TE: M VR, 3TN $he Fo?

U TR THYIS, 3TN ST fed fea
Tod A fHeTS e A1 TeH STl RS
SMerd Sher.

T 3T T, A ANl TRl 9Y Y,
P, BT T .

gl 2, AR O agd Wed. @ W e
A AT

Harera ferdt TToft 9T O 3mea?

0[0O]6)

0[0O]6)

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

1) T ) DQB@

3) @ 4) IR

TAET g 3R & 3R D@

1) &l i RECRICH

3) T 4) 9

Ui WA TN 31ATel ST AhUER Hae

E? 0IN]O]0)

1) 9EER IR 20 2) R | HEl

3) 9 918 Wk B0l 4) 9 qEI W

£t T W 2% v ? DQQ@

1) fiEresyon 2) GRrEYen

3) foresen 4) TRy

FRIA Bl 9 AT -———-———- AT

T I8H /0 U B?  (DRR)Q)

1) S 2) hicaHl

3) 3/ 4) 9r

TR, 31k AU 1 T0TE U 9 316k

& ? 0INO]0)

1) 9% 2) 9

3) 98 4) o

qfges HiuTen fehelt AT TaR AT ?
0IN]O]0)

1) 1930 2) 1935

3) 1937 4) 1940

FTHHETATS! ATIUT HIUTAT 9758 S0l ?

1) J=i 2) WEDQR@

3) T 4) T

31T Ferameht GEi AR, IS W] Shivi ?
0IN]O]0)

1) =t 2) oare

3) g 4) 3R

TSI, T, SR, STRAl, ¥ IIea Suliqehd

B URT 9168 ShIUTAT A ?

1) 91 2) TRl 0016

3) =R 4) AE

TN ey T &= &@ ? DRR@

1) T 2) T

3) o 4) Ssm




Q.19

Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

Q4

Q4

- - TN WU e ST 1) =4 2) % DOR@
1 shiuTan aien v1eg 3ief qut wher? 3) Tedl 4) =
1) ™ 2) TEDQQQD | .20 = = vreaTen TR Nerte 5T HUEI?
3) focte 4) Fes 1) TH 2) T DOB@
T -TOR T M- ————————-— ? 3) dig 4) TR
Section II : Maths (30 Questions, 60 Marks)
91191 11 : 31fora (30 19T, 60 3[01)
‘Which number will be in the middle if the 1
following number are arrenged in de- | Q.5 Solve: —+— DB ®@
scending order ? DO20® 16 8
TR o T T S Fn fordean | Q5 R @ D@
W v HEeAw Agmy wa? DRO@ 2 2 1
7,61,586, 7,56,356, 7,65,937, 6,75,937, 2
6,56,356 1
1)7,65,937 2)7,61,586 3)8x16 4) 3
3)7,56,356 4) 6,56,356
What is the greatest of six-digit number Q6 Convert 15/150mlinto ml.  DQO@
divisible by 52 1) 151501/ 2) 15150ml
ivisible by 5% 000 3)300m 4) 15015ml
ISR H1 § 3 ot o7 SO 781 SR | () 65 5,150 foeht o Pt ReAE?
T hiTt ? 010©]6) DOB@
1)9,99,999 2) 99995
3)9.99.990 4)9.99.995 1) 15150 fe. 2) 15150 ft.
T T 3) 300 f. 4) 15015 fet.
Which number do the Roman numeral Q.7 Lengthof ¢ lar blackboard s 2
XIVd te? . ength o1 a rectanguiar biackooardais zim
1) 16 enote 2) 14 D20 and its breadth is 1.5 m. Find the area of
3) 15 4) None of these. the blackboard? 0]B]O[0)
. 1) 7sqm. 2) 30 sq m.
XIV & U0 3ieh 9N UL forgies ? 3)3.5 sqm. 4)3 sqm.
gig 2145 E(Dm%@@ Q7 2t wieh @ die W, T s BETR
' S5 Terell 3T ? DOB@
A car cqvers 76 k.m: in 4 lit?rs of petl;ol. 1)7 SR 2)30 24
What distance will it cover 1n(7Dlg)eés) .@ 3)3.5 S 43 S
1) 133 km. 2) 126 km. Q.8 How many radii do you observe in the
3) 123 km. 4) 120 km. given figure? 0]0]O]0)
Teh TS 4 Toret USiosmed 76 fertit 3ieR 9.
e MEt 7 fosemed fedt fortlt iR SEe?
00©]6)
1) 133 foet 2) 126 fret
3) 123 foret 4) 120 et 1)2
3)4




Q.8

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Q.13
Q.13

0OO]6)
1)2 2)3
3)4 4)1
How many sides do a quadrilateral have?
16 )4 OO0®®
3)2 4) Many
SeniTent feret o9 3@@@? DRBR@
1)6 2)4
3)2 4) qshas
What is the perimeter of a square having
side 6 cm. 00O©]6)
1)36 cm. 2) 12 cm.
3)24 cm. 4) 12 sq cm.
6 Tt oS EGeAl SRETER aRftd wE
3TH? 0OO]6)
1) 36 9. 2) 12 9.
3) 24 T, 4) 12 =a.
How will you write 18.04 kg in grams?
DOO@
1)1,804 g 2)1.804 ¢
3) 18040 g 4)180.4 ¢
18.04 fFonm IR fRdt T2 2R Q)
1) 1,804 U4 2) 1.804 ¥H
3) 18040 UH 4)180.4 UH

Which of the following is true?

1) 1 quintal = 1 metric ton. DO
2) 1 tonne =100 kg

3) 10 quintal = 1 tonne.
4) 1 tonne = 1000 quintal

WIHBUh I TN 3Teh 3TR?

1) 1 foees = 1 7l <A D@
2) 12 = 100 fFarm

3) 10 foless = 1 &

4) 10 = = 1000 fraes

Subtract 5.81 from 10.

TE1 UL 5.81 IST HeATR dehl hid NH?

1)5.29 2)429 DOB@
3)5.19 4)4.19

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

How many composite numbers are there

from 1 to 100. DOOB®
19 100 T F&Tia ferell Hger & Mg ?
1)25 224 O0O0®W
3)75 4) 74

Manasi purchased a plot for Rs.93,480.
She sold it to Jasmine for Rs.1.5 lacs.
What profit did she make in this deal?

DOB®®
1) Rs.56,520 2) Rs.56,420
3) Rs.56,580 4)Rs.55,520
TR Teh &S 93,480 FULHT TR Fel
g @ ST 48 Brane faehen ® faon
ferett wrret STTen ? DOR®
1) 56, 520 %. 2) 56,420 %.
3) 56,580 %. 4) 55,520 %.

A Plain started from pune at 18 : 30 and
reached Goa at 20 : 20. What was the

duration of the journey? D@
1) 1hr 50m 2)2 hrs 50 cm

3) 1hr 10m 4)2 hr 10 min.

guETEd 18 anE 30 firfeit geoo o
et 20 a[A 20 et dee. @
TaEe fhdt 98 FFE? DRG)Q)
1) 1 .50 . 2) 2750 .
3) 1710 fa. 4)27.10 .

If 5is subtracted from numerator of the

23
fraction ——, then which will be the new

30
fraction? DO20®
g A1 YUTTHTAT UG 5 TN HedTR
SHIUTAT YU FBS ? DOB@

18

12 2) 7=
)25 )30

18 L
) 25 ) 18

How many obtuse angles do we get in the
adjoining figure ? 0016
ISR 3Tehelia fohdl faoToerM 21ga?




Q.19

Q.19

Q.20

Q.21

Q.21

Q.22

Q.22

Q.23

00O]6)

12 2)4
3)3 4)5
Calculate the period in days - 10 Novem-
ber 2000 to 1 march 2001. (DR ®@
10 SregsR 2000 U 1 1T 2001 weia feredt
feom Bt 2 0006
1)112 2)111
3) 119 4) 121
D 22

) 16 ) 8
3)4 4) 16

Vikrant bought 3 pens of costing Rs.25
each, 2 books of costing Rs.45 each. He
gave Rs.150 to the shopkeeper Which
of the following would be true?

0000
1) Vikrant would have to pay Rs.35 more.

2) Vikrant would get back Rs.35
3) Vikrant would have to pay Rs.15 more.
4) Vikranthave paid the exact amount.

foeriem 25 TuEiE ek ol R US T 45
T Teh 0 I Ik GRE ot
gRTEIS fawiad ®.150 fad. av
WU I I T 371 ?
O]0OO[0)
1) fepRicH 3197 35 %. PRI AR B,
2) ferhides SRMERA 35 %, Wd e,
3) femhicH 3TSH 15 %. THHIRIG! ARG B,
4) femhicn RMERIc ard fohd Rl o1,
how many angles are formed by two in-

tersecting line ? O00®
2 BEUTN WS fehet T TR Brama?

)2 21 000®
3)3 4)4

Express 1,00,000 seconds in hours - min-

Q.23

Q.24

sec.

1) 27 hrs 46 min 40 sec.
2) 100 hrs 10 min 10 sec
3) 10 hrs 0 min O sec.
4) 27 hrs 40 min 47 sec

1,00,000 ¥ehe FRUTS feret am@ - e
~~~Hehe ? DOB®®
1) 27 .46 fa.

2) 100 .10 .10 9.

3) 10 0f. 0 3.

4) 27 @40 f§.47 1.

00O]6)

How many line segments can be formed
by joining given points? 0016

Q.R¥ fiow fog wwiwia Seeam ferdt wEs

Q.25

Q.25

Q.26

Q.26

Q.27

Q.27

TR Belies ? 0OO]6)
B
A- -C
E- ‘D

)5 2)10

3)6 4) 8.

How will you write 15km 15m in km?
0006

1) 15.15 km 2) 1515 km

3) 15015 km 4)15.015 km

15 fomit gy i 2 fomtimed ovat foseres 2
0006

1) 15.15 fo. 2) 1515 ferrit,

3) 15015 ot 4) 15.015 e,

How many bottles of 120 ml can be filled

from 2 140 ml of 0il? DODOB@

1)20 2)17

3)2 4) None of these

2 5. 40 T3 120 et dore 1

et 9N fohdt e S At ?

1)20 )17 RO@

3)2 4) FEh &

Which of the following pairs are equiva-

lent fractions? DO20®

WIH@UEH! FIUE W TUed Ui

F9ter? DOB@

h32 NN

)61 ) 12°2




Q.28

Q.29

Q.29

Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

Q4

563 R
)10’5 12”4
X+X-V.V=2? DOR®
)X )V

3)XI 4) XIX

The number 98765 should be divided by
which of the following to get remainder

as 1? 0016
WU U &R 98765 a1 T&aH
AR TRl Tk RS 2 DOB@
)5 2) 10

3)2 4)3

Q.30 In the model of an orchard one apple tree

denotes S apple trees, one cherry tree
denotes 9 cherry trees, Find total num-
ber of trees, if model contains 30 apple

trees and 14 cherry trees. DQQ®@

Q.30 TeH HBa=Al Udligheiid Ueh TRTEETe! 311

TEUTS! UTel HURTEiETe 38 d Ueh ol 3T
RS 7% ol @e 3 qviae . SR
= Uferehdid 30 AuRTEiETeR 9 14 D= 318
=it AT TRATH A R Il eI
U R T RS 27 DQO@
1)276 2) 58
3)210 4)91

Section III : Science (30 Questions, 60 Marks)

91181 111 : farsirer (30 w94, 60 3got)

Adjustment to environment is called

0OO]6)
1) Adaptation 2) mimicry
3) hibernation 4) aestivation
TEiaRuTYT fiesd e But TEUTS- - - - - -
0OO]6)
1) 3TIpeA 2) ekhch
3) GEEeA 4) SIHA
Plants take in air through tiny openings
called -——--- which are present on ------- .
1) Leaves, stomata DO
2) hydathodes, leaves
3) Stomata, stem
4) stomata, leaves
——————— HEA STHUTAT--------Tq1 oA
Bgrea HEAA It ST Shidrd.
| D@
1) Wiy, wes 2) Bz, IH
3) M, qURY 4) 9oRd, U=
Gills are used for DO
1) Photosynthesis 2) respiration
3) absorption 4) conduction
e TR -~ ————————— TS Shet ST,
1) SToRIRT E¥cheH 2) 1 DRR®
3) 3o 4) &
The seed with thick fibrous outer covering
i e DRO®

QS5

Q.5

Q.6

Q.6

Q.7

Q.7

1) neem 2) coconut

3) papaya 4) lime

———————— T St TS STTSRUT AH 3TEd.

1)m 2) 7= DRA@

3) TuE 4) for

Seed are dispersed by 0016

1) water 2) explosion of fruit

3) mind 4) All of these

——————————— T2 SRR AN D Q@

1) grit 2) s

3) am 4) T SRR

Animals with a backbone are called
0OO]6)

1) vertebrates 2) invertebrates

3) echinoderm 4) insects

UTSTE U ST JOFHT-——— - ————-

FRUTAT. D@

1) ggeRi™ 2) STYEeRIE

3) viEa 4) TR T

The animals that give birth to young ones

are : DODOB@

1) reptiles 2) Birds

3) amphibians 4) mammals

——————————— smuedr  fastar s+

I3tz ). 00010

1) SRR ot 2) ueit

3) 3T 4) T




Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Q.13

Q.13

Q.14

Aninsult usefultomanis QOQQR®@
1) butterfly 2) bed — bug

3) mosquito 4) locust
————————— T AISA Hd SO FHieeh
IR 0006
1) GorEE 2) &g

3) ™ 4) A

Backbone is made of -----—- bones.
1)34 233 DRO®
3)35 4) 36

TS HUATA - —————— - TS AT

1) 34 2)33 DRO®
3)35 4) 36

Vertebral coloumn protects the ----—--

1) Brain 2) heart @@@@
3) lungs 4) spinal cord.
TSI RIS ———-—— - < TG Bl
1) 2)' D@
3)PFRH 4) ASITS]

Which of the following has involuntary
muscles? 0016
1) Legs 2) Arms

3) Neck 4) Intestine
—————————— HeA TR T 3.

1) o 2)Ed DO0®®
3)|H 4) 3T

The shortest bone in the human body is
1) ineos 2)temurQB@
3) lower jaw 4) vertebra
——————————— ? "G RS gdid
TGS TS 3N 0l0lO0)
1) 2)

3) WIS SEel 4) HOTH

The most common disease an the world
is D@
1) tuberculosis 2) influenza

3) tooth decay 4) jaundice
——————————— BT I Tl EBUTR TR
IR 0OO]6)
1) &= 2) fgeram

3) Sde™ 4Yehidics

Which of these give is immunity against
disease? 0016
1) Injection 2) Vaccine

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

3) Tablets 4) syrups
——————————— T W AR vt fmfor
. DRB@
1) TRHA 2) od

3) Tzl 4) o5 S
Change in the state of rest or of uniform
motion is brought aboutby D@3 @
1) acceleration 2) force

3) energy 4) none

R g nifom= wwwot fohan weRaEA T
TGS AU ————— -~ TR Bl

1) TR 2)ss D@
3) i 4) T
Potential energy increases with the
increase in DO20®
1) work 2) force

3) speed 4) position
——————————— HeA JTE AT USIATA
e et Sl are &,

1) RO
3) am 4) T3

A lever is a simple machine that is free

to move about point called. MHQQR@

1) effort 2) load

3) fulcrum 4) wheel

T T HTEAT AT SR ST STTERTETS -
————————— AT DOB®®
DR 2) F5H

3) % 4) oy

Which energy transformation takes place
when a sky diver jumps from an aero
plane with a parachute? 0016
1) solar — kinetic 2) kinetic —wind

3) potential— kinetic ~ 4) None of these

YT HEAH fauHET IS AReaer
I Ee TEm 99 . DRQ)@
1) GR SS1-Tiit 31 2) TS Seft-a
3) Y Soli-TIist 3ot 4) TR AR

Which of the following is a non — metallic

mineral? DO
1) petroleum 2) feldspar

3) gypsum 4) hematite
——————————— A QOO
1) waifoem 2) oNEe

3) disl 4) Sefuftem




Q.20

Q.20

Q.21

Q.21

Q.22

Q.22

Q.23

Q.23

Q.24

Q.24

Q.25

A mixture of sodium chloride and H,0 can

be separated by. DOO0®

1) filtration 2) hand picking

3) evaporation 4) distillation

——————————— TfchacaR Hifsam FANES 9

gruit iz fasnundte gew AR O

ST, 000

1) TMesul 2)

3) sTediveH 4) ITsH

Water droplets on grass and rocks is

called --——-—--. 00O

1) dew 2) snow

3) rain 4) smog

TTEATER STHT BIUT=A1 YTorea el - -- -

————— TZOTdId. DOB®

1) 2) 9%

3) aeH 4) g%

Light always travels in 0016

1) Curved lines

2) vertically upward direction

3) random direction

4) straight line

RPN gt ————————————- e .
0000

1) ok W 2) T v

3) PR ¥ ASTaehel

4) Wes WA

Layer of gases around the earth is called
0000

1) Lithosphere 2) hydrosphere

3) atmosphere 4) stratosphere

god Ao gaedl STeRuTH-——-- -

~ - TRUT. 0000

1) HEEr 2) SR

3) SRl 4) FHEX]

Which of these is not an ecosystem?
0000

1) Desert 2) grassland

3) town 4) tree

——————————— & e . D)@

1) deee 2) Tl YT

3) ;AR 4) 94

The scientist who study ecosystem are

called-------- . 0016

Q.25

Q.26

Q.26

Q.27

Q.27

Q.28

Q.28

Q.29

Q.29

Q.30

Q.30

1) ecologist 2) economist
3) engineers 4) environmentalist
TETERUTTEN 31T SHIOT=AT IRl —— -
—————— TEUTAT. DOB@
DR IEIGH 2) sefad
3) stferi 4) TR T
Which of the following is not a form of
energy? DRO®
1) Gravity 2) light
3) sound 4) electricity
———————— 7 Sten TR AR DB @)
IDRIEICEl| 2) YRR
3) el 4) forega
Inclined plane and lever are examples of:
1) simple machines 00O
2) compound machines
3) complex machines
4) none of above
e F T g--———————- AT TR 3T
. . 000
1) et =3 2) T I
3) e A 4) TRt
Which of the following is a second order
lever? DO20®
1) Abottle opener 2) Apair of tongs
3) Afishing rod 4) An axe
——————————— & gE TRl T 3T

1) IRH SR HE 2) ﬁma@@@@
3) AEEN e e

Brain receives messages through
0000

1) motor nerves 2) sensory nerves

3) both motor and sensory

4) none of above

—————— == Heen wew . DO O@
1) =@ 2) =l St
3) 3t o = st 4) TRt T

The intermolecular force is maximum in

the case of : 0016
1) gases 2) vapours

3) solids 4) liquids
——————————— ugginelics wunHed WER
3TTeRYUT Halielieh 3THd D@
1) AR 2) AHSTA

3) =1 4) sa




Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

Q.5

Section IV : Intelligence Test (20 Questions, 40 Marks)

o181 IV : ggfenTar aravit (20 U9, 40 3po1)

Which of the following alternative ex-
plains the idiom ‘To get into hot waters’

1) To get- into trouble D@
2) To burn yourself
3) Water is too hot to get in

4) Have of these

I oe de WIS TN TEuien A v
v oo 3me? DORD
1) 9ie die grfoear SR Al A5,
2) el el T T SRS,

3) Tob WA IRt TS,

4) Tt .

As elephant is to tall grass, Owl is to?

0OO]6)
1) Nest 2) Forest

3) Eyrie 4) Hollow of a tree
I EEE 39 T a9 oSt HE?
i 2) & DQR@
3) U 4) grer= Bt

Young one of a tiger is called cub, simi-
larly young one of a sheep is ----- .

1) calf 2)foal QOB @
3) lamb 4) kid

arareat fUcsTe a9 Tguand, aa=

VeStem foeon & ----- 00016
1) R 2) qred

3) g 4) %

Find the odd term 0016
1) Clove 2) Cinnamon

3) Cardamom 4) Cotton

forsie we st D@
1) S 2) e

3) A= 4) %M

Who is the writer of our national song,
Vande Mataram? 0016
1) Rabindranath Tagore

2) Bakimchandra Chatterjee

3) Premdas

4) Lokmanya Tilak

Q.5

Q.6

Q.6

Q.7

Q.7

Q.8

Q.8

Q.9

MU TS 701 &2 AT <hiv fordied 3R ?
DOB®®

1) = 2RI 2) SRR Fesfl

3) I 4) A oz

‘No plants or animals grow in the Dead
sea’ In the given sentence, what is the
difference between the longest letter
word and the shortest letter word?

7 26 O00®
3)4 4)5
‘No plants as animals grow in Dead sea’
Tlics AT Haid e 31eR el
VIeeTd ° Taid sl ek AFGTT IIeaTd
ot s W R? DOO@
17 2)6
3)4 4)5
Find the number of traingles in the given
figure. DO
VI 3MMehelidics TehUl Beriuren Hea
fepit? 0000
)5 2)6
3)4 4)3

Sudha is standing facing North, then she
turns to her left in 9(°, now her right
hand is pointing in which direction?

1) South 2)East QR @
3) West 4) North

eI TS diE o 3¢t Bielt, Fer ot ferean
T BIATH1 9 Ued det, T 3T foren

IS B iU 59 3w ? (DRR)Q)
1) s 2)

3) uiv=m 4) IR

Find the odd term. QOB ®@
1) Mrudang 2) Drum

3) Santoor 4) Tabla




Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Q.13

Q.13

feorsiie U 3eswn. DOBR@
1) ggm 2) T®
3) 4. IAER)

If green is to red, Orange is to grey, blue
is to yellow, while is to black. then which
colour would you called, which is on the
bottom of the Indian tricolour?

0000
1) Red 2) Grey
3) Yellow 4) Black

R fevem tmon oo Twes, A T
TETst, Heem Tt fuaen snfur uig=n
T il 3@ e, W faarsa qaia

! IS T hE OIS ?
1) @1 2)TWEDRR@
3) foeraan 4) SHlcsl

If there are 35 students in a row, find the
rank of Ashok, who is standing on the

midle rank. 0016
1) 17 2) 16
3) 18 4) can’t decide.

SR T WA 35 o e @ e
AEGUT ITAT STEUM=AT AIMek= WA

fohaan shwieh 3Te? DOB@
1)17 2) 16

3) 18 4) T AT AT
Which of the following river is from
Maharashtra? 0016
1) Ganga 2) Yamuna

3) Bramhaputra 4) Godavari
WAIGUeh SHIT T FERIFIS .

1) 7m )T OOR®@
3) ST 4) e

If I have 35 coins of rupees 2, & I want
to change it for rupees 10, how many

notes would I get? OOB®
1) 70 2)7

3) 10 4)3.5

R TGS A9 wUArE 35 A0 IR,
T YT T SR BUTSAT e S 37,
W UG foredt e fresdies? . QQO@
1) 70 2)7

3) 10 4)3.5

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17
Q.17

Which alternative shows the correct
meaning of the idiom? “ A stitch in time
saves nine.” 0016
1) It is better to stitch your own correct.

2) It is better to stitch the clothes than buying
readymade.

3) It is better to deal with the problem in the
initial stages.

4) You must do your work yourself.

wetet®l wivedt uatad RS
TSR A 31ef 3172 ? T ot &,

1) TSt IRRE 9ot 0. Q@
2) TTot THRIARE 370,

3) TR FE FOL.
4) T Y5 OIS SRR qroft ooy,
Pick the term that belongs to the group.
22 D00
14187 22°
1) b 2) B

28 26
3) 10 4) 16

19 32
TETd SHUTR S 3. D2BE
79 n
14° 187 22°
1) b 2) B

28 26
3) 10 4) 16

19 32
Symbols are usedto indicate letters as
show. 0016
Letters |e |8 |t |o|la|m|r|]|h
Symbol [A | e |w|w|&|# | OO0
then how will you write ‘Earth’?
IR 31gRUESTt symbols AR T Earth g
I1eg A1 fosgtes? 0000
D Ar&ADO 2) A0
3) AO%0 4) A OwN
How will the water redlection like ?
TS Afisia wE 8E? Q0@




Q.18
Q.18

Q.19

Q.19

Q.20

Q.20

.

1) o 1 2) Djra

Find the odd term. OOB®
foreiie ug etieaEn. DOB®®

I)V 2) F
3)T 4) L

If teachers day was celebrated on Tues-
day what would be the date on next Tues-

day? 0000

R TR e TRl |ISH 31T, TR Yesd
AN v aiE 395? (DRR)@
1)13 2)11
3)10 4)12
Radhika is brother is older than her by 4
years. If his age is 18 Years. What the

sum of their ages? OOB®
TfereRTen WIS freamgT 9IR aui-t HisT TR,
SR A 18 aufen 3G, W A=Al a4

s femeit? D2BE
1)32 2) 40
3) 34 4) 36
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